Q }{ @ Eﬁ @ Kerro kymmenen teholla (puuttuva luku)

Nimi: Paivimaara: Pisteet:
8, 052 x = 8052 9,418 x =9041.8
10, 105 x =101.05 7,537 % =75.37
7, 998 x = 79.98 7,958 x = 7958
5, 066 X = 506.6 10, 244 x =102.44
9, 838 x = 08.38 7,487 % = 7487
I, 708 x =170.8 9, 035 x =903.5
1,103 % =11.03 7,398 X =739.8
5, 506 x = 550.6 3, 694 x = 3694
9, 395 x =93.95 10, 312 x =103.12
5,537 x = 553.7 4,514 x =45.14
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Q % @ @ Kerro kymmenen teholla (puuttuva luku)

Nimi: Piivimadrd: __ Pisteet: ____
8,052 x 1000 = 8052 9,418 x 100 =941.8
10,105 x 10 = 101.05 7,537 x 10 = 75.37
7,998 x 10 = 79.98 7,958 x 1000 = 7958
5,066 x 100 = 506.6 10,244 x 10 = 102.44
9, 838 x 10 = 98.38 7,487 x 1000 = 7487
1,708 x 100 = 170.8 9,035 x 100 = 903.5
1,103 x 10 =11.03 7,398 x 100 = 739.8
5,506 x 100 = 550.6 3,694 x 1000 = 3694
9,395 x 10 =93.95 10,312 x 10 = 103.12
5,537 x 100 = 553.7 4,514 x 10 =45.14
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